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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

dFVvi
dFVo

o-0—ab——ab—aib

——
+

52.5

50.0

47.5

45.0

42.5

40.0

37.5

35.0

day

—&— DUC

0. 04 -
0.02 -
0. 00 -
0. 02 -
0. 04 -

32.5

52.5

50.0

47.5

45.0

42.5

40.0

37.5

35.0

day

—&— FRV

300 -
290 -
280 -
270 -
260 -
250 -

32.5

195 -
190 ~
185 ~
180 ~
175 ~
170 -
165

52.5

50.0

47.5

45.0

42.5

40.0

37.5

35.0

32.5

day

—@— FRC

0. 6494
0. 6492
0. 6490
0. 6488
0. 6486
0. 6484

52.5

50.0

47.5

45.0

42.5

40.0

37.5

35.0

32.5

day



400

300

200

100

30.0

21.5

25.0

22.5

20.0

17.5

15.0

12.5

90

80

70

60

50

2000

1500

1000

500

2.5

2.0

1.5

1.0

0.5

1.4

1.2

1.0

0.8

0.6

0.4

0.2

Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
T

! NA T A S —
1 V‘ \ lopt |
P Ny ——
IAERIANE T
E : /\f/\,vx/“-’\/\f"\v I: Lpt
| ~ TN
A | R \“\f\\‘
MW AR Y
FYVVSAY VT
J ' |
i o
N A / M A
- . \/\IkL:ﬁ
WAL
v s
W%n
i /’”_d\ — LAl
yad \
el ™\
,/ | N
/ 5 N
E AV/'\ .V[\V — optEtRate
A L AWM A WA ———
|V “\\\ [ M A !
| J'/
IR ERIiRA

2

5

75 100

125

150

175



Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI']]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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P3-12_0, Day=53 (2025-05-25)
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